Enrollment No: Exam Seat No:

C. U. SHAH UNIVERSITY

Summer Examination-2022

Subject Name : Advanced Econometrics
Subject Code : 4AHO06AES1 Branch: B.A. (Economics)
Semester : 6 Date : 04/05/2022 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)

a) Econometrics means
A. Mathematical Economy
B. Economics Statistics
C. Mathematical Statistics
D. All of above
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b) Which type of variable and its value is determined by economic model?
A. Exogenous variable
B. Endogenous variable
C. Other variable
D. None of above

52Ul YsIRe] A wal doj Hed (s NI glRL olsgl scllMl wUA §?
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c) Which type of function should be in Econometrics?
A. Linear
B. Quadratic
C. Circle
D. Parabolic

S5 sAUL 52l UslRe] (ARG SN2

A.Yu B. vl C. ada D. uRadA
d) The types of correlation are
UL RIER .
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If null hypothesis is right and we reject it that is
A. Type-1error
B. Type-2 error
C. Type-3error
D. None of above

A (AR50 UR seUstl AR Sl Wl AA Aa aAslFlA Al A

A. 2lBU-1 G B. 2l8U-2 B C. USIR-3 ¢l D. GURLscHi] 818 atel

If null hypothesis is wrong and we accept it that is
A. Type-1 error
B. Type-2 error
C. Type-3error
D. None of above

%\ (AR50l UR scUtl VIIEL 8lal ol AN Aol 2cllsi3lA AL a
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A. 2lBU-1 GE B. 2l8U-2 @E C. USIR-3 ¢t D. GURLsAHI 815 otel

What type of least square estimators?
A. Best
B. Linear
C. Unbiased
D. All of above

sl YsLRoll ofotcdid cdl w2138l 872

A. 3% B. YU C. ate{lolct D. GURAS dHIM

Unbiasedness means
A. E(b")=b
B. Var(b™)<var(b*)
C. BothAand B
D. None of above

wote{lolddl AeA

A. E(b")=b B. Var(b")<var(b*) C. Aual B 6ial D. GURAsciMiell 5l¢ ot8l
R ——

A. 1- ge?/ ey°

B. ey’ ey®

C. BothAand B

D. None of above
Error term E(u)=0 or E(u)’= o u® (Constant)- Which problem is created
by violation of this assumption?

A. Multi collinearity

B. Hetroscedasticity

C. Auto correlation

D. None of above

AR Ue (u)=0 or E(u)’= o u? (HUAUA) - 3L UIRRlUell Geclelatell 585 AU
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Which problem is created by violation of Cov(u; u;)=0 assumption?
A. Multi collinearity
B. Hetroscedasticity
C. Auto correlation
D. None of above

Cov(u; u})=0 tURQUa GOl AU Al $E UHRU HA?
A. ucla AHRuell B. R ue of [An [QuRel C. Aol usoiu D.

GURsdHil 516 o1l
How many assumptions of least square estimators?

ofotcti aol ugld ofl 32cll uiReuA &2

A 4

B. 5

C. 6

D. 8
The expected value of x given the value of u is zero, how can we show in
mathematical symbol?

x ol AUAA BHA u ol UA(AA BHA 2o B . L U oA AZ

sl3lA ealaua?
A. E(ui/x;))=0
B. E(xi/ui):O
C. E(uix)=0
D. E(ui+x;)=0
Which problem is created by linearity between various exogenous
variables?
A. Auto correlation
B. Hetroscedasticity
C. Multi collinearity
D. None of above

YRl UEA A AHRAL Sl Al 58 AU BEMA?
A. Aellold Usolu
B. 4R ue of [Quu [QuRul
C. gucllar Huoll
D. GURlsctuiel 818 o8l
E

Attempt any four questions from Q-2 to Q-8

Q-2

What is Econometrics? Discuss its nature and scope. (14)

wdM Qe N2A 92 Aoj 23U al stA&A UAL
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Attempt all questions (14)
Find the solution of the following market model: 07

o{lAell tos1R W3l B3 N

(o) ] E— > Demand function ( Hiot (A1)

() S = N— >Supply function (Yasl (AR2)

(o) =o J— >Equilibrium condition (AHdcL oll 2ARl)

Find the solution of the following: 07
o{lAtl GE 2N

Vol E— >Equilibrium condition (AHdcl o{l 2ARc)

€=20+0.8y---------- > Consumption function (U2l (AR21)

|=80---—---— > Investment function (43lAs1L (AR)

Attempt all questions (14)
Write short notes on Type-I and Type-I1 errors. 07

YS(R -1 3ol YSIR -1l Al UR Sl olltll Al
Write the characteristics of t-distribution. 07

3l (A1 ot oLl wuudl.

Find the coefficient of correlation of the following information and (14)
interpret it:

oA AUAA MU Al 12 Usoit ofl 1A 5 Wal Aof W uieot
5.

Price | 5 6 7 8 9 10 11 12 13 14
X)
Rs.
Demand | 100 | 90 80 70 60 50 40 30 20 10

(Y)
uUnit

Give the concept of least square estimation method and explain the (14)
assumptions of it.

ofotcti ol Wo1Rlet UG oll vl Ul uRQUA AHsLAL,

Discuss multi collionearity problem. (14)
U2 AHULAL ofl AU (AN A 52,

Discuss Hetroscedasticity problem. (14)
AR ue of @Qnm Qe ofl AHA QN 22 53,
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